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QUESTION 1

Refer to the exhibit.

ﬁ Your connection is not secure

The owner of securelogin arubanetworks.com has configured their website
improperly. To protect your information from being stolen, Firefox has not
connected to this website.

Learn more...

Report errors like this to help Mozilla identify misconfigured sites

A company has a Mobility Master (MM)-based solution with a guest WLAN. During the captive portal
redirection, users who access a non-HTTPS Website see the error shown in the exhibit.

How can a network administrator prevent this error?

A. Enable automatic CPSec certificate deployment.

B. Replace the default Mobility Master certificate with a certificate that has the correct hostname.

C. Replace the default server certificate for mobility controllers with a certificate signed by a trusted CA.
D. Reconfigure the guest WLAN to use EAP methods that rely on passwords rather than certificates.

Correct Answer: C

QUESTION 2

Refer to the exhibit.
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Create a new server

(®) Radius O LDAP

Name: ]
IP address: [ ]
Auth port:
Accounting port:
Shared key: [ ]
Retype key: [ ]
Timeout:

A network administrator needs to specify a RADIUS server for an employee WLAN on an Aruba solution. What must the
administrator enter in the Shared key field?

A. the password defined as the preshared key for the WLAN on the Mobility Master (MM) and on authorized wireless
clients

B. the password configured in a user account with administrative rights on the RADIUS server
C. the password configured for RADIUS clients on the RADIUS server

D. the password defined for authorized wireless clients on the RADIUS server and also distributed to authorized
wireless clients

Correct Answer: A

QUESTION 3

A company has an Aruba Mobility Master (MM)-based solution that runs ArubaOS 8 and uses the default AirMatch and
Client Match settings. The ARM profile has been disabled for 5GHz radios. How are channel and transmit power
settings managed for these radios?

A. with legacy ARM

B. with Rule Based Client Match

C. with legacy Client Match

D. with AirMatch

Correct Answer: D
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QUESTION 4

How does WPA2 protect wireless user traffic in the air?

A. It provides data integrity with AES and no data privacy.

B. It provides both data integrity and privacy with AES.

C. It provides data privacy with TKIP and no data integrity.

D. It provides data integrity with TKIP and data privacy with AES.

Correct Answer: D

QUESTION 5

What is one difference between how a network administrator can monitor clients in the Mobility (MM) interface and in
the AirwWave Management Platform?

A. AirWave shows trends for the past several minutes, while MM shows longer trends.

B. AirWave combines information from more sources, such as RADIUS authenticating servers and APs.
C. AirWave shows the current signal level for the client connection, while MM does not show RF statistics.
D. MM shows user and role information associated with clients, while AirwWave does not.

Correct Answer: B
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